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QUESTION 1

Which two Data ONTAP Cluster-Mode clone technologies will lock a Snapshot copy? (Choose two.) 

A. FlexClone 

B. LUN Clone 

C. Snap Clone 

D. Vol Clone 

E. Aggr Clone 

Correct Answer: AB 

 

QUESTION 2

Which three attributes would you specify when creating a LUN? (Choose three) 

A. The host operating system of the system attached to LUN. 

B. The version of Data ONTAP 

C. The size of the LUN. 

D. The path to the LUN. 

Correct Answer: ACD 

 

QUESTION 3

What are four storage efficiency features Data ONTAP 8.1 Cluster-Mode provides? (Choose four.) 

A. compression 

B. deduplication 

C. FlexClone 

D. SnapVault 

E. thin provisioning 

F. transparent files 

Correct Answer: ABCE 

 

QUESTION 4
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A FAS6280 running ONTAP 8.0.2P1 has a 32-bit root aggregate. After upgrading to Data ONTAP 8.1, what is the status
of the root aggregate? 

A. The root aggregate remains 32-bit. 

B. The root aggregate converts from 32 to 64-bit in place. 

C. The root aggregate auto-migrates to a new 64-bit aggregate. 

D. The upgrade fails with a message to create a new 64-bit aggregate before upgrade. 

Correct Answer: A 

 

QUESTION 5

In Data ONTAP 8.1.1, before a LUN can be created a________ must already be present. (Choose three.) 

A. igroup 

B. Vserver 

C. traditional volume 

D. flexible volume 

E. aggregate 

Correct Answer: BDE 
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